MEEANSETAIDFEBHEENESE

OTEERREUE
241 i E S X it i L
£0% $300[ EO%E $100
FROHL $600[ 2Ot $300
BEOX $1,200)B O = $500
EEOM $100FR O#k $500
sHOE $600|fH O $100
FO"E $100[ O $200
FOH $100[EHOH $200
#HOT $100|ZF Ot F= $100
Ok $100[fR Ot $100
BOZ= $1,200) Ot $100
EAOY/N $1,200)E 0L $100
FOfE $1,200{ZIO $100
FO% $1,200|E=ORE $100
£2O% $1.200|f O FE $200
wORE $6.000)2 OFL $200
O $1,200) RO $200
O $1,200[FR Ok $200
AEOLY $1.200{EOHE $150
TO% $1,200) B O % $150
AEOME $1,200| RO $150
BROZE $1,200) B OF $200
AEORF $1,200]BE O3 $200
O $1,200| 52 OF $200
AEO#% $1,200|15O%EL $200
B O $1.200)E O $500
tROFS $1,200) i O $100
FHOFIE $100[HEOL $100
SO $2.400|14&2 OF $100
FO#E $2.400| 58O $100
O $1,200( % O $100
FOR $2.400) % Of $100
SO $2.400| 8 OF $100
RO $2.400[FEOZ% $100
2IOX $2.400|B OF& $100
BO=E $2.400| 5= O%#, $100
RO $2,400[5F Offii $100
FOZ $2,400[5FOE $100
#HO2 $2.400|18OF $200
O $2.400|EH O $200
iR OAL $2,400|EHOF $200
BROE $2.400| 52O $500
2O $2,400(BRO & $200
Z0OE $2,400|FHOF $5,000
FO® $1.200[FFORK $200
TOEE $200[ OBk $200
BROZK $2.400|1210O% $100
FO1E $600[FROZ $100
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HOE $600[ RO L $100
RO $50,000;HO & $100
e o £ (SRt $50,000)F= O $100
H R B EAIRAE $30,000); O $100
R TR AR AE $50,000] & O $1.000
MO $3,000[ RO FEx $5.000
MOIE $20,000{BROHAR $200
BRORE $4,500[#5 O i $200
i I s T $10,000[EHOF] $200
EO $10,000{ F=O& $100
BEOT $5,000{ O $100
EOM $500| O $100
Oz $1,000| £EO== $100
T O $150[EROE $100
FROINE $10,000)F= O8] $500
HOHFES $500[# O $100
£0U1E $1.200[BHOE $200
BROTE $1,000|%20O & $100
F Ot $200[ 52Ot $200
£0H $1,200[EHO%E $200
£ZOJN $1,200[FROEE $200
ZOR $1.200[FROA= $100
BO== $1.200[FROZE $100
=0% T $100[BR O $100
HO& $600|FFO B $500,000
i OBE $1,200|FO B $500,000
H O $1,200| %O $200
BO%Z $250|fR O $100
TO®E $250| EOZ $500
HOE $1.000| 5O $500
2IOF $700[# O $200
PHOZE $1.200(#ROF $100
O $200[2£OC $100
PO $3.000[2£O& $100
PROAL $600[E O $100
RO $1,200|E= 0O $300
HOE $1,200[{ERr = NAEEEET TRV E] $50,000
MHOHE $1,200) B O $500
I OF $1.000|E=OF $5,000
FOH $1,000)E=0O4: $500
fO% $300| T O% $600
OB $5.000) T O%#, $400
RO $300 | OF $1.000
£0% $1.000)fOF = $300
FOE $300[FH OFEE $100
HOZ $500[#O7= $200
HOH $100[FH OB $1.000
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w=OR $500(f OF $100
TOWRAL $500[AROFH $100
FOBE $500|E=O%F $500
MO $1.200[750 $200
RO $200[#BOHE $200
FRO2 $1.200{FE O $100
TORE $115[OZ $100
BRO#: $100[2OE: $500
GIOLS $1,500) kOBt $100
HOZ $1.300[FRO%k $1,000
BO% $1,300) & Oty $200
FAOE $1,300[t5OF5 $500
{HORE $1,300| EOH $500
+O&F $250|EH Ot $200
ESOL $250[HEOH $100
+0O¥% $250)) TOZEHE $1,000
BOE $250[ O $100
ROE $1.300(#R O $100
HO=E $10,000{BROTT $100
EOR $150|B8CO% $500
EOFE $1.000{ZFOF $300
PRE e $20,000{#RO*ij $100
EREEHET $250[ R O%% $100
75 e TER (i A IRV E] $500[AKOHIL $100
HOE $300[ROF $100
BOR $200[FROIN $120
MHOHE $200[#ROZ $100
RO $200[EO3L $100
2O $200|ZFO%K $300
£ZOH $200[#ROF* $100
FOE $200[#R O $100
HOZR $200[#k O $100
O $200[ 52O $100
A OFF] $200[7RO=2 $100
A O $200) 5 OHE $500
BO% $200[#Oz= $100,000
Z0= $200|ZF O $100
w= Ol $400[FOfa $100
BOF $1,000|EFO%E $100
ZOF $1,000|EBOf= $100
HOBE $1,000|E O $100
A OJ $1,000[f1 O $100
RO $1,000) &£ O $9,000
HOTE $3,000{£OfE: $200
2I0H $200|1FO1& $1,000
TOBEE $200[t5O%E $500
fTOBE $200[2O%x $200
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O $1,200{BFOE1E $500
B OF $1,200(=OEE $1,000
TO%E $500[ RO $50
O $200{ RO R $50
FORHE $200[ EOHIGHD) $500
TORE §5.015|#kO 88 $50
IO §1.200[FkOF $50
BOT $1.200 O $50
SO $1.200[ 0% $500
BO%E $500|EO & $4,000
AL $1,200{H O~ $3,000
EO $40[(EOFP $3,000
O $100[ 2089 $50
TOE $100[EOH] $100
FO% $100| EEOR $3,000
BRO# $100[FF O3 $1,000
O $100#kO7E $200
—0O%T $3.000[BOIE $200
O §1.200[BEOBS $200
=OK $1,200{BE OFA $200
HOZE §1.200[BEO SR $200
BOF $100[#kOx $500
08 §100[ RO $500
BOME: $100[BO%E $30,000
Ok $100[FEO %1 $300
FOH $100[BEOFE $200
o) $100[ 850 % $1,000
BROS $100| EOE $1,000
O£ $100| O %% $1,000
BO® §100 208 $200
SO $100[Z0J, $200
SO $100[FROE $300
HOF $100[2£0%8 $300
FOH $S100[HROE $300
F+O= $100[FROHt $300
#O%, $100[FkO%7 $300
O $100[fIOH $300
HOW $100#kO & $300
AO=E $1,200|1220F $300
HEOE $300[RO%E $300
B0k $300[ZE0%: $300
B0 $1,000[2EO $300
O EEK $1,015[FO4E $300
B O $100[FOZK $300
WO’ $100[EEO $300
WO% $100]8EO - $300
B0 $100]E0O% F $300
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O $100[EEOE $200
=0O% T $2.500[Z£ O $500
BO®EE $1,000|1# O $500
FOF $100[#OH $500
PO $2,000{5O%E $200
£0H $1,250|BR O $200
BROTK $1,250|HO% $200
£0f& $1,250{% OIEl $400
£0= $1.250|1#F O $400
HO=E $100[m=O%E $400
#FOE $1.200[ZFO% $400
FRO2 $1.200{HROEK $25914
HOZE $1.200{HROEK $35,000
BOE $800|FOfE $400
MHO= $1,200) % O $500
g ORE $1,200| £ O $1,000
FROF $1.200| £O%& $1,000
EEORK $1,200| FOFF $1,000
+O&F $250[Z2ORE $15,664
ESOLS $250|122 O $16,000
+0O¥% $250|5 O $20,301
BOE $250|F O $21,000
=0% T $2,015[BROEX $2,000
> OfF $500) TO= $2,000
FOXE $1.000[E O $200
HEE $1,200)BEOFK $200
TRACT $1.200|BEOZ $200
78 A $1,200[FR O 1 $200
PR SR $1,200|EF O $200
PO $1,200|BEO%H $200
EAOL $500[BRO1a $200
FOE $1,000{FEOF $200
EOTH $1,200)FOZ $200
EOTH $3,000[FEOE $200
OGRS $1,000|BROfiEE $200
MHOEAE $500[BROXF $200
FOFAE $1,200 | e JEIBT $6.000
BROTE $500[Fr O $1,000
FOX $1.200|=0O%F $100
FOtH $1,200|#OZ $1,000
TO% $1,200)5= O $500
BHOHE $1,000[2£O % $5,000
BHOHE $1,200) AL O $5,000
TOE $1.200{EOH $100
TOE $1,000{ 5= Ot $1,000
EO&% $1.200{FEO#2 $100
TO&H $1,000] kO $720
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ETOZR $1,200| B FhECEL T $20,000
ROE $1,200 | ¥ EE EUPEBH 2 A TR /N ] $8,000
BOE $1.200{HROEK $45,000
RO $1,200|122OFE $25,000
210 $600PTOE £ $200
BIOHH $600[5OZE $500
FOK $600[ZEOF5 $500
1 OF; $600| BB O $500
O $600|EO%x $1,000
FOE $600|BEOTE $1,000
HOE $1.000[HEO#F $2,000
BOFAL $1.200[HEO $1,000
FOEH $1.200{FPOBF $510
FOE2 $500[H:OFE $1,020
ZOR $500 CRE B ) ok ok $300
PO $500[FR O $1,000
20O $500(# OF i $5,000
HOE $500[Er OB $600
PO $500[#F#OF $5,000
PHOLT $500[7&O $5,000
FOH $500[FEEOE $2,000
PO $500|E O $600
HOtE $500[=OE[H] $1,200
ZOE $500|FHO¥E $5,000
MO $500[ EO%E $1,000
£0% $500[EOH $600
£OWE $500[ T OtH $600
WO $400 R O $700
HOZK $400|E= O $400
BEO $400|EOfF $1,000
EOME $400| 2O $1,000
O | $400[fT O 4 $300
BHOZE $500[7R Ok $1.000
2208 $400[ZEOFF $300
BOH $400[ZFO1= $200
BOH $400[FO= $1,000
FOE $500|&£O EERIZ $800
PROZE $500[=OHk $500
FZOF $400[#EOE $100
BROSL $1.200[EEORK $100
BROHL $1,200) O $500
BROHL $400[FRO%E $100
BROFT $1,200( % OHA3E $100
MHO% $500[ O E $100
RO $1,200{FEOTE $100
BEOMR $1,200] i OF $100
HOZ $1,000[FROZE $200
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BROF $200| R OF $150
£Z0O= $1.200|E O $200
EHOM $1,200|EFO=L $200
g OH $1.200[E O $200
=0% T $500[F O $200
FEOfE $1.200|5FOF $200
£OME $400| FOE $100
FOME $1,200{FO4 $100
HOFIL $1,200[5R O F $400
BEOH $1,200) 5% Oty $300
RO $1,200)B O $500
FOH $1,200| P O $500
T OME $1.000[FR O $100
+O& $1,000{=0O+ $100
O $1,000{=0O+ $300
B O $1,000{=0O+ $800
WOZ $500)2F O % $100
BO¥E $100[fR Ot $100
AEOE $500[#E Ot $100
EAOLEES $100[E=OL $100
ZOR $100[B1OA $100
PROIE $100|E=ORE $100
fite OF $100|BHO $1,200
BROZR $200|BRO 05 $200
TOZEZE $1,200) £ Ok $150
T O $600[FRO%E $150
HOLL $1,200| B O $150
BROE $150[HO=82 $500
£0 $200[HEOTE $100
HOFET $200[EOL $100
HOL $200[40 O $100
H O $200[BRO %) $100
HOE $200| & Of# $100
ROE $1,200) % Of $100
Z#0 $600[ 4 OF $100
fTOTF $200[HO%% $100
FAOZE $1.000)B OF& $100
ROSHE $400[= Ot $100
FOH $600[EFO i $100
SOt $300[ETOfE $100
BOHE $10,000| 5O $500
RO $500| EOF=E $1,200
BROME $500/2£0 $1,200
BROZE $100|220 $10,000
BRO $1.200[7R O£ $1,200
FEORE $600[7= O $2,400
GO $200[ it Ok $1,200
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sHOH $200 i O Fs A% $1,200
BHOR $1,200) B O$#, $100
ZF O % $100|FR O $200
BROSE $100[5TORL $200
POt $100[#F O $200
w3 $100[FIOf% $100
BIOH $100[BROZ $100
s O $100[#RO $100
BROXEG $200{O 5 $100
BROH $200[FEORI $100
BRORL $200[HO%H $100
TOHk $150[FROLR $100
BROZE $150[5OZ& $400
BROZ $150[z# O $1,200
BROFH $200[5FOL $1,200
BROE $200( & O $1,000
FOH $200[= O $1,200
BOB $200[HEOF $1,200
HEOFEH $500[ O $1,200
fiti O 1 $100[EO% $1,200
fitt O>L $100[FROF* $100
LO= $100[z= O $100
O $100[FR O $100
g O $100[BR O $100
O $100[ OB $100
2O= $100[FROJE $100
FOZ $100[ER O $100
BRO®& $100[EFO% $100
s O $100|FR O $100
SO $300[ETO*E $100
HOEE $300[EFO f, $100
s Offi $100[5TOE $100
sTOfZ $100|#EOIE $20,000
BOT $200[ EO& $100
EHOH $200| EOH $100
sHO $200[EF O $100
#ZOREH $600[H= O] $500
RO $500[# O $100
BRO#E $200[EEOE $200
sTORL $200)|=OE $100
PMOTR $200[ 52Ot $200
RO $100[FEOZ $300
BROZ $100[FEOF $500
PO $100[FROEE $200
AHOE $100[FR O $100
FEORM $100[fRO=E $100
AEOH $100[fR O $100
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BRORL $6.000]#H# Oh $1,200
ROZR $200[ 2 OF4 $200
ROZR $200fa] O3k $1,200
g Ot $1.000(fFTOZF $1,200
ORI $1,000) ¥ OF $300
EOR $1,000{FRO#% $100
FEOHE $1,000|1 PO $200
BROAL $200[E O $100
FEOR $600[=OE $300
FOHi $600) it O 1F $1,200
BOIE $1,200|121OF& $100
O $1,200Jit O $2,000
BOHi $200[##OHE $125
sHOF $200]5 O 52 $125
HOE $100[EOZ $125
EAON| $500[# O % $125
HOE $100[21OF5 $700
BOXE $200[ O $2,000
CAOES $100[ EOZRZL $10,000
SO $200(ZBORE $100
sHOSE $200(Z O $100
BROE $200[BROZ¥ $400
RO $100[£8OF $100
BROE $100[F Otk $100
BRO#E $100[BIOF $1.000
SOt $200[FR O $500
BROE $100[RO% $300
O $500| PO $100
=OZE $500| =0+ $615
HOE $200| =OH $100
O $10,000|EF O $100
HOFE $100[FO1a $100
20X $100|HFOZE $100
£0E& $100[E O $100
PO#HE $600[ERCO5 $100
SOHE $1.200 [T O 5 $100
#FRORE $1,200) &£ O $6,000
MO $1.000[E O $1,000
s2OFE $1,200|E=OE $600
BROTE $600 RO $100
OB $1.000|E=OF $5,000
HO $5,000[#5ORE $1,000
BRO $600[/FEOHE $1,000
FO/E $1,200)Z= O $500
FOR $1,200)&= O $600
FR O $600|E= Ot $600
BRO $600[5RO%% $600
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EHOR $600|E= O $600
+O= $600[ O E $600
FOMH% $600|E= Ok $600
BRO M $1,2000TO % $500
HOE $1,200)&=0O4: $500
BIOPTH $600[ T O% $100
FOH $11 T Oz $100
FOHk $1,200| T O#F $100
RO $1,200| T O $100
ROE $1,200)|ZE O $100
HOHZE $600| T O= $100
T O $600[ T O $100
FAOEK $600[ T O#h $100
ROFEE $600| £OZ $100
ZOH $5.000[5O % $200
EOGE $10,000[BEOK $200
#FO¥ $300|AROH $600
M OZH $1,200) =2 OFEAL $400
F O $600[#FO%] $200
BROLF $600[t O $200
BOFH $1.200[FH O $200
FOE $600[FHOBE $200
BROZE $600[t7 O $200
+O% $1,200)F O% $600
i O $600| 21Ok $200
ZIOFE $1,000{FOJI $1,915
FHOZ> $1.000(#F OF& $1,000
FOE $1.000)fOF = $300
FOR $1,000[#FH OFF4F $100
FH Ot $1.000[ZE OB $1,200
FOEEE $1.000{Z Oy $1,200
w0 $3| O $1,200
B $9.752[ZF OfE $1,200
O $200|ZF O $1,200
202 $2.000[#ROZEAT $50
PROZ $3.000| PO $50
BIOHE $500[#FOF= $200
FEORH $1,200[FH O $1,000
£O $1.200[fR O $100
RO%E $100[AROFH $100
GIOES $1,200|E=O#F $500
ROE $1.200[E O $1,000
B OF(] $1,200| PO $50
RO $1.200|1#k O $50
O $1.200[ZO%E $50
HO=E $1.200[750 $200
PO $1,500) 88O $200
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s TOM $1,500)FE O $100
A OHFES $500[FR O $200
(TOEAETR) $500[FEOZ $100
HOR $1,000| O # $500
HOF $1,200)| 2O $500
HOE $1,200) PO Ht $100
FOK $1.200[FRO%k $1,000
O $1,200)ZR O $200
PROAH $1,200|HOH $200
B OF5 $2,000|HO= $200
AO%E $600[ & Otfg $200
£0tE $600[t5OF $500
RO $600| EOH $500
= O $600[E Ot& $200
EXO%H $600[F Ok $1,200
= O5h $600[ O $100
g O $1.200TOZEEE $1,000
Wi O $1,220) 1 O40 $100
EOH $500[ O $100
HOFE $1,200[FROJT $100
EOZHL $6.000|58OZF $500
FIOK $200|FOFE $300
BHOF $100[FFOF( $100
PROZ= $1.200{RKO¥% $100
ZOfgE $1.200{K O $100
HOBEE $1.200| RO $100
BO% $1,200|FOF4 $50
PO $3.000|#k O $100
MOER $1,200| O $100
HOZE $500|ZFO%K $300
BOkE $1,500|#kOF $100
O $1,500|#k O $100
FROH $500[#k O $100
BROETEE $1,000| %O $100
HOFEL $50[3O% $100
PO $50[HEO= $500
TOAIED $500| O T $100,000
ZOE $600[ZEORE $2,500
O $600[ZEORE $5,000
PROZE $600[> O#F $8.000
BROZ= $600[EEEVEM K HEERY $1,000
BROw $600[> O#F $30,000
BOFE $600| A EE P FH S A IR /A 5] $8,000
FHOsE $1,200)BR O $600
FHOE $1,200{FHOH $8,000
=0k $1,200{ZZOfF: $700
BROZ $1,200{ ROt $700




MEEANSETRAIDFEHEENESE

OTEERR S
241 i E S X it i L
MO $50[ = OFs $700
FEOR $300[EXO%H $700
RO $1,200{ &= O5A $700
MO $50|1ZEOE $700
ZOik $50|Ek O $700
RO $600[BROZE $700
BROE $600[FROZ $700
RORE $600 R O $700
AROHi $600[HOF= $700
AROHi $600[ RO $700
POFE $1,200) B O $700
HOE $1.200| RO $700
=OA6 $1,200{AOHi $700
A O& $1,200{AOHi $700
HOE $1,200) B OHE $700
HOE $1,200[FEO FAE $700
BIOnE $300| A EE P FH S A IR /A H] $8,000
HORE $300[FROFEE $1,200
BIOKE $300[br O $1.000
RO $300|2OFE $500
BIOHE $300[FRO % $1,200
BROE $300[FHO R $2,000
PROZ $300|HOL= $20,000
£20) $1,000TOZE $20,000
=0 $500|BEO1E $1,000
BIO%kZ= $1,200{ =0+ $100
ZOfk $100[#HOZ $1,000
BORE $100|E= O $400
FRON= $500[5O= $100
O $1.200|2£Of# $1,250
O $100[BRORK $1,250
O $1,200)1220f(& $1,250
£20) $1,200[220%E $1,250
HOB $1,200{ IOk $1.915
F O $1,000) 5 O%f $100
=0% $1.200[z=0O% $200
FOAE $1,200|FHORE $1,500
FOH $1,500[z= OB $1,500
HOZ $1,300| O $500
BO% $1,300| O $500
FAOE $1,300{ O % $500
{HORE $1,300|#rO%E $500
FOBK $1.200|1 O $500
FOHEE $1,200[#OFS $500
BROH $100[ 2O $100
FOH $50[F O $300
FOE $1,300)5=ORE $5,000
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O $600| EOAIEHD $500
PR O/ $600|EFO EH $100
RO EAE $600|EPOBE $510
BEOW §500| & O3B $500
IO $1,000[+O R £ $115
=O® $1,200|FEO 2 $100
TROE $1,200[EEO K $3,000
HOZK $1,200[tR O $1,000
HOK $1,200[ZOE $100
EMELEE $5,000(E O $100
PROREE $1,200|1#ROF $500
HBEEEE S AR AE $2,000|1 R OFF $500
O $10,000 B[ 0 11 $20,000
T OME $3,000|1#5 O $200
TOffGERE) $3,000[ RO $200
TOH $3,000[7EO %% $200
TORF $3,000[Z£O#x $200
TOE $3,000[22O&¢ $200
O $1,200(350O 28 $200
WO $1,200(EE O $200
8 O%F $1,200| 5 O A $200
ER®) $100|# O $200
FO= $100/#0O% $200
BEROER $10,000|Z0= $200
TROBE $1,2005FOFEE $200
TOEE $200 [z OH& $200
BHOXEE $2,000| EFOFH $200
F5 R T RN AR A E] $50,000)450% $800
BRI AIEAE $4,0005O1FE $50,000
SO% $600|20OF $1,000
BO%E $1,200[220OF5 $500
O $1,200|EF O MR $500
HOH $1,200{E Otz $1,000
BOR $10,000[ O $1,200
#0 $1,200[ZO % $1,200
sROJI $2,000)F Ot $1,200
BO® $10,000[ = O% $1,000
PR O $500|#EORARE ZX $1,200
RO $1,0007B O $1,200
HOER $1,200 (B O $200
HOE $1,200{E O $1,500
FROK $1,200[{HO= $1,300
EHOH $2,000|1#O% $1,300
FORE $100[FOER $1,300
&RO= $1,000[{EOEE $1,300
EOiM $1,000( 2 OF $1,300
EOfE $1,200{Z=OHk $5,000
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O $1,000| PO $200
AEORH $2,000|tR O8N $1,200
PROZ $1,200|FF Ot $100
PROLL $1.200[EE O $100,000
HO=E $1.200(HOE $2,000
FOME $100[ 2O $100
g OFd $1.200({FPOR $100
BEOH $1,200[FEOE $600
PROZ $1.200[EEO~F $10,000
RO $1,200| =05 $200
FO/M $900| = O e $600
FOE $1,200{ = OFE $600
=OES $600 R OF5 < $600
EOTE $600[ZEO $1,200
O $1.200|18O % $300
HEOER $6.000| 8 OF $300
FHOJT $1,200|8OF $300
HOL $1.200|2£O %k $300
HOZE $1.200{ 5O $5,000
MHO=EE $1.200{#R O $1,200
MOEE $1.200|1 RO $1,200
PO $1,200|1FOF $100
£Z0OE, $1,200)F Ok $100
#HOT $100[=OE $600
BEOF 1 $500[#£O $600
ROz $500[ EOLR $600
HEOM, $500[7R O $2,000
BROEE $500[FFOR $1,200
PROME $500| 21O $1,200
FH Otk $100| £OZE $300
O $600|E O $300
O $600[FRO5E $1,200
EO% $600[ETORK $1,200
O $1.200({Z1 Oz $1,200
Ot $1.200[FEORK $1,200
HEOF $1,200[FBO $100
AEOREE $1,200|F O $300
EROZE $200|FO%z $300
RO $200[ZFO1& $300
RO $200[#O Je $300
w=O% $1.000FEOF $300
EO#E $1,200)FE O $300
LOZE $1,200)FE O $1,200
ROZAL $1,200[EA O $600
PO $1,000)3FOFT $1,200
AO58R $1,200) &£ Ol $1,200
O $1,200[4OF5 $1,200
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BROZE $1,000|{BRO*E $1,000
206G $1.200|# O $12,000
ENOY/N $500[=O#h $100
HOEE $300 5 OFEAR $100
HOIE $300| 2 OF% $100
HOE $1,200| 2O $100
BROZEEE $300|FEMESF —F B+ $8,000
BOF7 $300[ZFO $200
O $300[7R Ok $1,000
EO5% $300| EOF $250
RO $300| O $250
BOZE $1.000{EO*% $250
FHOFIE $100[EBOE $250
2O $500[ &k O#F $1,200
TOB $1,200| EO#= $900
LOMHE $1,200) O $500
FHOBH $400[}OZF $300
BOR $1,000) 8 OBH $100
HOHE $1.200|MOE $100
POZE $500[FRO1E $100
HOE $500[ ORI $100
LOA $1,000) B O $200
FZOH $500[HEO4L $1,200
BIOF $5.000|BE O $150
FO% $1.000|E O+ $200
ROZE $500[EFOL $200
JOFF5 $2.000[E O $200
H O $1,000|Z Ot $200
FOE $6,000|7ROE $1,200
FO $40,000[5FOT $200
BOE $1,200) 52Ot $300
MHOH $1,000) B O $500
ROZE $600 | F O %k $500
JBO%K $600|fH O $100
HOE $600|2F O % $100
TOHE $1.200[FR OS5t $100
RO $2,000)5ROF& $200
HOBH $1,000) 7RO #E $300
RO#RER $5,000[5& O $200
BORE $5.000) POt $100
H=O $5.000)EO=L $100
H O $10,000{ZIO $100
O P $10,000|E= OFE $100
MOE $2,000[#O%E $3.000
FR OB $1.200)fOFE $200
HOE $1,000) Ok $150
FAO% $1,200)B O % $150
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#®O% $1,200| B O $150
B OxE $3.000);EOF2 $500
BRO H4&l $1.200[FEO It $100
HOR $1,200]1i O=L $100
H#HOAE $1.200)4&2 O $100
HEOf $1,200{50O %) $100
FEOT $600[ & O $100
HOEF $600[ 4 O&L $100
SOk $10,000| 8 OF $100
=08 $1.200[FE O $100
BORE $1.000)B OF& $100
BORE $1,000| 5 O%, $100
BOE $400[5T O $100
HOEE $1.200[FOfZ $100
FOMT $1,200| 52O $500
£0H $5.000) 15 O’ $1,000
=OW $600|[F O $1,000
s O $600 | FF O $200
RO $600[ETORL $200
OB $600[ OB $200
MOH $600[B1Of% $100
BROH $600 [ OZ $100
BROR $600[ O $100
PROIE $600[BHO=E $1,000
PRO S $600| FOE $1,000
PRO%E $600)| £ O 4% $1,000
OB $600[{HO & $100
BROA $1,200{FE ORI $100
£0% $4.000); O $100
BO% $300[EBOI $100
BO#H $300[EOf& $100
BO#H $300|HFOZE $100
£Z0Om $300[EO $100
OB $2,000|ZL O $100
RO $2.000 (21O $600
FHOXE $1,200[f1 O $100
FO% $1,200|5ROA§ $400
BOE $600| =OH $900
A ORE $600[BBO 51l $300
£ ORk $1.200{5BO % $300
BEOT $1,200)/8 Ok $300
O Rk $1,200|6BOFE $300
O 4 $1,200) % Ol $1,000
BORE $600[EBOZE $200
BO= $600|fH O %= $200
BO%% $1,200[5R OB $200
O $1,200[FFOFk $600
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s Ok $600[FH OLL $600
RO $500[#FO1E $20,000
= OIE $10,000|#EO %% $600
Z OB $600[/H OBk $600
ZFOHi $600[ROFEE $600
FOME $600[EF O $100
FOfE $600 &k O ¥ $200
FOH $600[ R O %S $200
BOF $4,000)FE=O7H] $500
E OB $1,200[FR Ok $6.000
F O $1,000|1#EO%E $100
FHOE $1,000[BEOE $200
FHOE $1,000) 52 O%#, $200
PO $1.000[EEO%F $1,500
HOFE $1.000(FROEE $200
HOFE $1.000[FROA= $100
RO $1,200[FROE $100
RO T $1,200[FRO#% $100
ROBL $600[ 2O $200
FROHT $600| E O $1,000
RO T $1.200| £O%& $1,000
tROE $2,000| =OFF $1,000
HOEE $1.200|# O $600
RO $600 | O $100
B0 $600[# O $200
=O% $1,200{#AOF5 $200
OB $1,200{#OF5 $300
FOH $600[2£OX $200
HOE $5.000[2£O $300
HIORE $1.200|22O& $200
S OF] $2.000[2£ O $300
TO=MEH) $1,000) s O $600
BROH] $10,000| = O $300
B E R TR RN E] $30,000{FEOZF $1,200
RO $600|22O%E $1,200
PROF & $600|PECOE $1,200
BROH $1,200{=O & $600
TOR, $5.000| 7 O $600
LOSE $5,000[# O $4,000
sTOH $500[ZF Ok $10,000
O $1,000) F Off $300
ROZE $500|&£O EEREIZ $800
O $2,000)BECOBH $1,000
=0% T $100/21OE $600
BIOF $800| 21O $600
A O)= $100[ZFOZK $600
RO $1,000{Z1O % $600
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#OE $100| 0% $600
2O $200| 2 O3 $600
E[ @) $5,000[EFOEE $5,000
ZOM $1,200|1210O55 $500
HIOES $300[FROHE $2,000
O $300|Z O $1,000
EHO%&HE $1,000{E O $1,000
FOE $300[fHOF $200
+TORE $515FEOE $100
ZO=E $100|21OF $1,000
O $100|# 0K $5,000
FROJEL $1,000( B O $1,200
HhE fHcE $20,000[ EO%E $1,200
BOHG@E) $5,000|1HOF $1,200
#0% §500 kO s $1,200
BO% $1,000 (B Ot $1,200
O $1,000[#:0 5z $3,000
#HOE $3,000{A O $300
2NOF $500{FBOZE $1,000
20OF $350| EOH $100
=0%F $100|fRO*% $1,000
=O $400[FEOEE $500
B $500;&O 5% $20,000
HOE $1,000|520O+ $500
(@ $100| OS2 $500
2OF $L,000EOE $1,000
FO& $1,200|1220O %8 $3,000
=0%F $500|1220O4F $3,000
BO% $1,000|12207% $3,000
R0O% $1,000|1220 # $3,000
sROFK $1,000|1220O = $3,000
RO $300[Z2OFREE $3,000
OB §500|2£O %% $3,000
BAO X $1,000|Z1O%k $200
BOY $1,000[#EHO 5 $2,000
RO $2,000/ 2 OFR $100
21OF7 $5,000[FROZFEAL $50
7582 RN AR A E] $500[ RO $50
0L $200| EO#IED) $500
EOZ $1,000{#RO# $50
RO RBIZ $300|1 RO $50
PR OB $2,000|ZO%E $50
PO $2,000{& O $500
HOZ $3,000|ZO8 $50
BOEE $600| 4O % $500
FOR $1,200[fH O/l $500
O $1,200[fHOfE $500
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TOH $100|fEOfF $500
g O% $300|EHOE $500
g ORE $300[5O= $30,000
g O $300|FOHE $50
g O $300[ZBORE $100
g O $300[FOR $100
gOE $300[FOH $100
g Ofgt $300[FFOF $100
HORY $300[ZOF= $1,200
wOF $300[FBO%k $100
HOH $300[FHOH: $600
SO $300[EOH $800
MO $300[EOZ $800
SOt $300| PO $100
PO $300[EO%d $700
PO $300[21 O $100
s OfE $300|22OH $100
w0/ $300[#EO#E $540
s O $300[5OF $3,000
BOF $300[HEOLE $800
FEO&E $1,200) i O $800
EHOE $1,200] % Ok $1,000
O $1.,200| EO%k $600
FRO54 $1,200|5R Ok $500
O $1,200)TOF $1,200
=0O%B+ $1,200PTOR $1,200
BOH $5,000|Z£ Of# $500
EO.L $200,000| #AE£ EUPEBH 2% A PR /4 =] $8,000
FOR, $1.200PTOFE £ $200
BO# $1,200|BEO%E $600
PROZE $100[FEO%k $600
BROZENL $600|FEOE $600
TOE $100[HEOHK $20,000
TO%& $100| EOE $200
EOKRE $1,200{FO4 $200
#FOF $1.200[E O $1,000
BO== $1.200(t5ORE $1,000
PROHE $1,200[#5OFE $600
i O% $600|FEO=E $600
O $600| RO $600
O $1.200|BROETER $600
HOZ $1.200|1#OkE $600
g O] $1.200|1 O $600
i O $1,200) &= OFE $1,000
EHOR $600| 5 O%k $600
BROFT $1.200[E O $1,000
F O $600[ EO& $200
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BROF $300| EOF $200
BROE $300[5OH $600
EOW $300|5=OH 1 $600
EBOTE $300| 5O $600
ZIOA $1,200| O $600
#FROZE $1.200| £O= $200
+O% $1,200| £O7F $200
s OfE $1.200|FOF. $500
=HOS $1.200[ZFO& $500
s ORI $1,200)F O $500
E=OR $300[Fr O $1,000
AROFH $1,200[E Ot #S $600
O $1,200{FE Ot $1,000
RO $1,200{ =06+ $100
T O $1,200| 52O $400
FEOFX $1.200|18O% $1,000
ZOR $1,200| PR OB $400
PROZ $1.2007R O $1,200
RO $100|ZF Ot $1,000
EOm $1,200|1EO4F $400
B OF% $1.200[FFO= $4,000
BROE: $100[E= O $200
RO $1,200) & O $1,000
HOT $300 RO $400
BIOPATE $1,200[FEOtF $400
BROH $200[ O $400
ZOligg $200[#F O $400
RO $200| 2O $1,000
PROZE $200[fT O 4 $300
RO%Z e $1,200) B OFd $500
BROBE $300[FIOF* $400
RO $1,200{Z1O#% $400
ROE $1,200|121OF* $400
BOE $5,000( 5% Ot $1,200
HORME $1,200{#AOF5 $600
FOF $600[EFO = $100
TO= $600[BRO# $100
ROE $300[/HOF $2,000
BROF $100[#5O%E $2,000
=50 $1.200|FHOE $2,000
KO $100[{L OFF $2,000
PRO®E: $100|2OFE $2,000
RO $100[HFEOH $600
O3 $100|FE Ot $1,000
BRORE $100[5OE $400
RO $100[#HAOHk $1,200
s O $100[HEO= $500




MEEANSETRAIDFEHEENESE

OTEERR S
241 i E S X it i L
PO $100| Bk FhFoE 1+ $20,000
s O $100 [ FE ik $5,000
sTO =, $100[ ISR $20,000
sTOZE $100| F &y $1,200
O $1.200| & ¥ $1,200
HOE $1.200| & $1,200
£Z0% $1.200[ F & $1,200
RO $1.000|¥E&7E $10,000
st OH $1,200[F &= & $1,200
FROY/A $1,200 | it & $1,200
OB $100)7EFE $50,000
TOF $100|EO%x $1,000
=08 $100|HE=COH $1,000
s OH $100|EE O $1,000
Ok $100|5=OF $1,600
FOZE $200[=OF $5,000
BEOjw $200[m=O4 $500
E O $1.200[ T O% $600
MHO4 $1.200 T O## $400
A Ok $600 | OF $1,000
BOE $1.200)fOFE $300
BIOH $1,200[#H OFF4F $100
RO $1,200[# O $200
£0¥% $1.200[FH O $1,000
HOH $1.200[fR O $100
£OE $1,200) RO $100
OB, $1,200|E=O#F $500
RO $1,200150 $200
BROZR $1,200|48 O $200
e O $1.200[FE O $100
20K $1.200 02 $100
ROFE $300[#A#O#H $500
BORE $1,200)| = O $500
BEORE $1,200) PO $100
EOS $1,200[FRO%k $1,000
RO $1,200) & Oty $200
RO $1,200[t5OF5 $500
HOZ $1,200| EOH $500
1 $1.000[F O $200
1 $1,200[ALOH $100
FEOM $100 TOZEHE $1,000
s TOfH $1,200) i O40 $100
FHOH $1,200[# O $100
HOB $10,000{BROTT $100
HOLC $1,200)B8OZF $500
FOE $1,200|F O $300
O $10,000{#RO#ij $100
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FLO $1.200{RKO¥% $100
HOB $1.200{K O $100
HOH $1.200| RO $100
ZIOH $1,200|#k O $100
HOE $1.200{EOL $100
2O $1.200{ZFO%K $300
BIOF $1,200|#kOF $100
Z0O% $1,200{#kOE $100
HOZE $1,200)#kO4n $100
BIO% $1,200| 2O $100
O $1,200)7=O% $100
#FOZ> $1.200[EEORK $100
RO $1.200[H O $500
FR O $1,200) B O % $100
#RORE $1,200) 8 OBHF $100
£Z085 $1.200|8 OB $100
HFEOLUI $1,200) B O1E $100
PROXE $1,200fit O $100
w08 $1,200{FROEE $200
A Ol $600 R OF $150
PO $1.200|EOFF $200
A OFg#(] $600[EOSL $200
A O $600|ZLOH $200
A O>L $600[F O $200
#OfE $600[Z£0O $600
NOF=ES $1,200FE O $600
Z0 $1,200) %Oty $300
O $600[FROFE $500
FOR $1,200| P O $500
F O $600|f O $100
F O $600)7EOTH $1,000
TOBXL $600[FEOFE $600
T O $600|2F O % $100
FO= $600[FRO S $100
wO% $600[#E Ot $100
T O $600[E=OL $100
F O] $600[BOA $100
TOE $600[ = OKE $100
£ O $600|BRO 05 $200
H#HO $1.200{EOHE $150
HOFT $1,200) B O % $150
i OFE $1,200| RO $150
BHOR $1.200);E O $500
BHO= $1.200[FEO It $100
BHOZ $1,200]1 O=L $100
2O $1,200|4C O= $100
O $1,200{50O %) $100
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ZOE $1,200( % O $100
FR O $1,200( % O $100
HOE $1,200|8 OF $100
SO $1.200[FE O $100
BROF $1,200)B OF& $100
FROH $1,200) 5= O%#, $100
g O== $1.200[FF O fif $100
BROZE $1.200[FOfE $100
BOE $1.2001Z=OREH $600
ROFEHE $1,200| 52O $500
= OF $1,200) B O$#, $100
ZFOtiE $1,200|121O% $100
Z0 $1,200| B O $100
FOEE $1,200| PO $100
RO $1,2001 75 OFf $30,000
#ROMH $1.200 O 5 $100
B Ol $1,200{FE ORI $100
BEOX $1,200); O $100
O $1.200[FR O $100
iTOZE $1,200{FRO#F $400
O $1,200) 2= Otz $400
O $1,200) B O$#, $400
HOLC $1,200|5ROA§ $400
FOHE $1.200FE O $600
SOl $1,200)2F O $600
SO $1.200(#F OFEH $600
e OREH $1,200 | O F#] $600
s Off $1,200[FH OZ25E $600
=OH $1,200|7 O=L $600
FROZ= $1,200| 7 Offi $600
w05 $1.200(gFOE $600
07T $1,200{ F O $600
#rOHi $1,200{ F Ol $600
=O%E $1,200{ F Ol $10,000
RO% $1.200| EOFRL $600
HOA $1,200{ O3 $600
HORL $1,200| O $600
H=HOZHE $600[E= Ok $600
MO $1,200[EOF $600
HOZ $1,200)F O] $600
s O $1,200{F£O#F $600
+OF $1,200| Ot $600
20= $1,200|BEOF $100
12 Ol $1,200)x O $100
HOPR $1,200{FE O $100
=OE $1,200)BR O $100
SOt $1,200[ F O $100
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A O% $1,200) B O£ $100
IO $1.200|BR Ot $100
RO $1,200|5FO%% $100
HOE $1,200(PR O $100
RO $1.200[FFOF $100
BROw $1,200)5F O e $100
PRO&E $50,000[5FOE $100
RO $1.200{#FO1E $20,000
O $1,200|EF Oz $100
BROME $1,200{FE O $500
BROZ $1,200|1FO%E $100
FOLE $1.200[BAOE $200
BROE $1,200|%20O & $100
#FOX $1,200| 20O & $100
TOFH $1,200) 5= O$#, $200
BROIE)G $1,200[FROEE $200
O $1,200)F O $100
FOE $2.400[FROZE $100
= O $1,200{FRO#% $100
H O $1,200[FE O $600
H O $1,200| %O $200
OB $1.200{FRO#F $100
FOFE $1,200|1 PO $200
INNS= SR fG A Rl $6,000|ZE O $100
H=O/H $5.000|ZE OB $100
BROHE $500[HE O $1,000
PO $3.000[z=OH $300
BROSE $100|% O% $600
O $5,000{ & OHE $600
B OMES $500[7ROZ $500
w ORI $20|&£O EEREIZ $800
HOXEK $600[ZEOF5 $500
Oz $5.000{ &2 O¥ $600
i O EER $1,015|E O1H $600
RO $500|% O $600
O $100[E O $600
#Ola $100| & Offgts: $600
O $100|FF O $600
HOL $100[#O 5 $2,000
O $100[3EO= $100
HEORE $1,000{= O $600
FOF $100[EO ¢ $600
O $500[Z£O% $600
HO $5.000|#5O W $500
ORI $2,015|FOBE $500
FOBE $500[FR O $200
s OIESK $12,000|E O $600
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JTOx $100[#OZE $300
JTOR $100[ = Offg $300
TOE $100[#F O $300
JTOE $100[#F O $300
B O $100[=OLE $300
10= $100|E=O7E $300
T Ok $100[=OH $300
T O## $100[#0O%5 $300
+O2 $100[ PO $2,000
BRO$ $1.200|2OF $600
BOR $200[HEOHK $600
EO= $200[EFO $1,000
BROZK $200[H=OFAL $30,000
O H#k $1,200|ZE O=F $1,000
KROJEE $600[BIOF $1,000
RO $600[AROH $500
ROT $600| 52O $500
g OFE $1.200{5 Oz $500
= OFERL $200[BIOF $1,200
MHO% $200| =05+ $420
BOFE $200| 21O 2Tk $1,200
HOFE $200[FIOfF= $1,200
H OBE $200| 21O $1,200
BOE $200[F1OE $1,200
£0# $200[H= O/ $1,200
FH O $600[B[ O $1,200
FIOEK $200|210F5 $600
=OT $1.000[F O $1,200
=HOH $1.200FE=O% $1,200
=OM% $1.200[{FPOE $1,200
BEOfF $1,000]+O4= $315
#O $2,000| 21O $1,200
JOR $600[ = O $100
PO $3.000[HO1E $1,815
PR O ik $1,200|ZF O $100
BROFE $300[FOfa $100
HOWEIE $100|HFOZE $100
A O $1,000|EBOf= $100
£ZOH $600[EF 5 $100
MOEL $50F] O5 $100
PO $50[ = O $100
MO $200[E O1F $1,000
FOAED $500) 5= Ot $500
i O $1.000[7RO= $30,000
RO $100|5=OJH $100
ROTH $100[EO# $1,000
BROH] $1,000[FF O $300




MEEANSETRAIDFEHEENESE

OTEEHREE
241 i E S X it i L
PO $50| EOH $100
FEOR $300[FRO%E $100
HO®% $50[FEECO $1,200
ZOik $50[FEEO1& $1,200
770 $200[ O $1,200
PO $1,000 ¥ O $1,200
(@5 $1.000| R O% $200
HO®% $1.000|fR O $100
PROZ $1,000|#H O $600
MHO= $1,000) s Oli% $600
MO $1,000] 5 Ot $600
BHO— $1.000[Z=ORd $600
HMOkE $1,000|BEEOF5 $600
MHO= $1.000|BR O $600
BEOF $1,000[;& O/ $600
BEOF $1,000[/& O $600
SO $500[E=OFE $600
FEOM $100[FRO#h $100
=0 $500[BROZ $100
BRO $200[;EO T3 $600
BO2 $100[ER OBk $600
rOJE $3.000[EEONE $1,200
#HO#H $500[E O $100
SO $500[BEOFT $200
FOE $100| % Ol $1,000
POSL $100|FOFtig $600
AEOFE $1,000[FEO & $600
ROk $1,000)BEEOF* $100
BO%E $100[z= O $100
O $200[BR O $100
BOF $500 R O $100
O’ $200| EOH $100
HOHE $100[FROJE $100
LOZEEE $1.000|BE Ot $100
Ol $100[EFOi% $100
PO $500F O $100
MO $100[ETO*E $100
BROIT $100[EFO f, $100
BEOZ> $500[5FOF $100
FOE $300[{AT Ok $600
PROR] $100[ZF=O%k $200
KOZ $100[ZF=O%k $100
ROF $100[FO#: $100
KOE $100[FO#: $100
FOx $500[7ROF5 $600
FOH $50[ EO% $500
BROIM $120[/O% $500
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= O % $1,000{EXOPY $6,000
LOWE $200/2£0 $500
%0 $200[#F O $1,200
FROMER S $500[PLON- $1,200
HOH $1.000[# O $1,200
BOZE $10,000)F O % $1,200
ROTF $2,000| O FF $1,200
FO5 $1,200(FE Ot $1,200
=0 $2,000|FOH $1,200
HORE $1.000[FEO%& $1,200
PrOZK $1.000[/FOEL $1,200
HO $1.200/EOF $1,200
A Otz $1,200|FF Ot $100
= OF $1.200[5RO= $23,000
AEOE $500(F O $100
AEOE $500[=OF $5,000
EAOLEES $100[/FEO®E $1,000
ZOR $100|BROHlI % $2,000
PROIE $100|E=0O4 $500
fiti OF $100[£8OF $100
BROZR $200[ T O% $600
BROE $150[ T Ot $400
£01 $200[#5O% $200
HOFET $200| = O= $200
HOL $200FROZ $200
LHOLS $200] =2 OFAL $200
HOE $200[#FO%j $200
TOT $200[t O $200
RO¥% $1,200|#H OFE $200
SOt $300[FHOBE $200
RO $500[t5 O $200
BROME $500[B O $200
BROZR $100[FOfk $100
FOHmF $100[FEEORK $100
PROSE $100|# OFs $1,000
PrOfet $100[ROF53E $300
w3 $100|# OFEE $100
BIOH $100[#FOF= $200
= ORE $100| EOAAD $500
PROEE $200|HOF $1,000
BROH $200|f OF $100
BRORL $200[AROFH $100
TOHk $150[m= O $500
PROZE $150[50O $200
BROZZ $150[FBOHE $200
RO $200[=O % $300
RO $200[FEOA $100
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ROF $200[ 5O $500
BOB $200[EEO¥ $100
AEOFEH $500[ RO &L $100
fit OIE $100[ERO%K $1.000
fitt O=L $100|FPO 8 $100
LO= $100[E Otfg $200
O $100[t5OF5 $500
GO $100| EOH $500
g O/ $100[FHO% $200
gOE $100[ALOH $100
FOZ $100) TOZEHE $1,000
FRO®E $100[EOA $100
e O $100[ PO $100
SO $300[F Ot $100
FOHHE $300|B8CO% $500
s Offi $100[FOE $300
sTOfE $100[FFOF( $100
RO $500[ R O%% $100
BRO#E $200[ AR OHIL $100
sTORK $200| ROF $100
PMOTR $200[#£ O] $1,000
RO $100[#ROZ $100
BROZZ $100[EO3L $100
PO $100|ZFO%K $300
AHEOE $100[#ROF* $100
O $100) K OFE $100
AEOH $100[#k O $100
=0% T $2,400| %O $100
HOE $1,200)5:O% $100
FHOF $1,200{5R OHE: $500
i OF] $1,200|#EOFX $200
s OBk $1,200[FR OBk Z% $1.000
ROZR $200[E= O $500
g O $1,000 75 2 A SR A TR/ ] $500
FHOK $1,200{&FO H $9.000
HOE $1,200| =05+ $600
BROAD $200[ =0+ $1,000
AEO4N $1,200| RO $100
E O $1.000[ RO $100
GO $600| BB O $500
BOHi $200| =05+ $100
FOE $1.200|18O%E $250
JiOL $1,200pTOME $250
HOEE $100[HOZ $1,000
O $500[HOF5 $100
MO $100[HOF $100
BHOE $200| £ O%H $1,000
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HOE $1.200|1ZOH $100
IO $600[ZF Ok $100
AIO% $600[ZF Ok $100
BOSE $1,200|F O $100
EZOX $100[EEOE $3,000
O $200| B E FhECE T $20,000
PROEE $200|E=O= $50,000
BRO= $100| FOE $100
BROE $100| EO4 $100
BRO#E $100|OEAER) $10,000
BHOLE $1.200{EO&K $100
RO $1,200{ O $100
FOM $200| HABEEHPEBH S A IR /A 5] $8,000
BROE $100[7RO= $20,000
HOE $200[ZFO1 $100
HOFE $100[frOF $1,000
20X $100[FR O1& $1,000
£0OE& $100[= O] $400
BROAE $1,200{ RO FEAR $50
HOWS $100[#+FORd $50
TO%E $2,000| PO $50
AlOE $1,200|1#k O $50
FEOR, $1.200[ZO%E $50
iTOH $1,000|BE O $100
O $300[/HOF $1.500
2014 $1.250[{iOZ $1,300
BROBK $1.250|#5 O % $1,300
£0E $1.250|FHOE $1,300
ZOHE $1.250[fLOF $1,300
TOEE $200|ZFO8# $50
O $300|2OFE $1,300
RO $300[FE O $1,200
ZOFME $1,200[ O $500
EZOl] $1,200) = Ok $1,200
SEOmEL $1,200[FR O $600
£0f& $1.250[HO % $500
PO $1,200) 8 OBH $100
B OR $200[ O E $100
10O $1,200)BROIE $100
PROZ= $1,200fit O $100
HEOHE $1.200(FR Ok $200
HOHE $200[EBOFE - $200
RO $200[EOSL $200
ZOK% $200|ZFOH $200
O $200[F O $200
FO2E $200[ 5= Offg $300
HOZR $200[FROFE $500
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O $200F O %k $500
A O $200[FROZE $100
BO= $200|2F O 5% $100
Z0= $200[BRO S $100
H OB $600[#E Ot $100
MOIE $20,000|E=OL $100
H OFk $600[21OA $100
21O $200[ = OKE $100
MHOHE $1.200)fOFE $200
ErOFEE $200[}OF=s2 $500
O):3 $1,200) i O $100
A OHE $200[ i OL $100
FOFE $200|&c O=F $100
HOXX $2,200{50O %) $100
i O3 $600[ & O $100
TO#HE $900[ 2 O&L $100
AEOE $500[ 2 OF $100
5T ORM $1.200[FEOZ% $100
O $300[FROF $100
AEOE $500[=O# $100
EAOLEES $100[ET O $100
ZOR $100[ETOfE $100
BRO & $300[ 52O $500
ZOlig $500[B1Of% $100
PROIE $100[BROZ $100
Jiti OF1 $100[#RO $100
MO $1,000[HO & $100
O $1,200{FE ORI $100
TOEE $2,600); O $100
BROZR $200[EF O $100
BROE $150[H= O] $500
£0 $100[#OE $100
FOE $1,500| 2O & $100
HOFET $200[52 Ot $200
HOL $200(fR O $200
L HOLS $200[f O $100
HOE $200[fR O $100
iTOTF $200 | O $100
ROSHE $400[ 2 OF4 $200
ZOfg $300 R O $100
RO $500[ EO% $500
RO $500[=OF $500
BROZE $100[# O $200
GO $200[E O $100
sHOH $200[z= O $300
BEO & $1.200|FO& $2,000
2O $1,200) B OFeht $600
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AROFHEL $1,200)2 OFL $200
T OREH $600[5O= $5.000
FORE $100|122OF $500
FOHFE $100|EO%x $1,000
BROSE $100[BROZE $300
POt $100[21OF5 $500
w3 $100[2£OH $1,250
BIOH $100[EROFK $1,250
OB $100[Z£O& $1,250
PROEE $200[22OF $1,250
BROH $100[BIOF $1,000
BROBY $100[EOHT $1,000
FOHL $150|2 O $1,000
BROZE $150[fT O $300
BROZ $150[FRO= $500
RO $1,500[E£O $300
RO $100| £O=E $300
BROE $100[FRO e $200
FOH $100[FR O $1,000
OB $100|AEOP $100
AEOFEEL $500[HEOF $600
fiE OTE $100[FIO%s $250
fitt O>L $100[5R Ok $250
LO= $100[5= O $250
O $100[{HOH $250
g O $100[21O= $250
g O/ $100[LOTE $250
qOE $100[5F Ok $500
FOZ $100[3EO= $100
RO $100|HECOH $1,000
=08 $100|=OE $500
SO $300|&£O EERIZ $800
HOHHE $300[7ROEFH $400
s Offi $100|# O Js 3t $1,200
sTOf2 $100[EBOR $100
BOT $200[F O 15 $100
EHOH $200|HFOZE $100
sHO $200[EF O $100
RO $500[E O $100
PRORL $1.000 (PR O#T $200
MHOEAE $200[== Ol $200
e O $700[FRO#t $200
s O $700 1 O3 $100
w1 O $700[5OZ%& $2.400
BRO#E $300[BEOFFAH $200
FIRG)DY $200[BB O $200
MOTR $200[/FOHk $200
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2IO& $100[5O= $100
BROZZ $100[BBOH: $200
PO $100| % Ot $1,000
BROTE $200[EBOZE $200
FOME $100[f O %= $200
£ Ot $2,500[5R OB $200
ZOKE $2,500{ 5O $100
FOX $2,500[ @k O ¥ $200
£0fm $2,500)BE O $150
AHOE $100[EOFE $1,000
O $100|FHOFF $1,000
AEOH $100[Z O $1,000
O $2,600| EO#Hk $150
BROE $1,200) B O % $150
FOEL $200[BROZ $150
ZOR $200[# OB $500
PO $200(#ORE $1.000
£ 0% $200[#ORE $1.000
OB $200[ZFOT7 $1.000
PO $200[EOFE $1.000
PHOLT $200[EOFE $1.000
FOH $200[=O5A $5.000
PO $200|FO%& $500
HO1E $200&x O $2,000
Z0E $200| & — PR EE AR EE B A TR /N ] $2,000
MO $200[ O $2,000
£0% $200[ &£ Ok $1,200
ZOFE $200|PE O $1,200
#HO4E $200[PEO % $1,200
HOZK $200| O $1,815
O $200[BEOH $500
BEOL $200[ 7O H #k $2.400
BEOZEE $200| B O $100,000
BHOZE $200 |8 O 24k $1.000
£ZOH $600[HFOE $1.000
ROE $200|EOfF $1,000
BROZE $200| =OH $100
MHO% $200[Ex O 5 $10,830
ROZR $200[HOH $1,200
TOH $900[ OB $1,200
#HOT $100[HOZK $1,200
BEOF 1 $200[E= O #: $1,200
FOH $1,200) 5 OFE $1,200
ROz $200[5RO#h $4.000
HEOM, $200[ZBORE $100
RO $200|F O] $100
BRORESE $2.400[=O5 $5,000
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g O $1,000)E=0O4: $500
Ok $100[£8OF $100
BOE $1,200) T O $600
£0 $700[ T Ot $400
ZO% $700[F Otk $100
ZO® $700|# OFs $1,000
FOM $700[EROF53E $300
HOE $700|# OFEE $100
Z O $700[#FOF= $200
FHOFE $700[ EOAHD $500
ZO%k $700|HOF $1,000
HOZE $700|f OF $100
HO $700[ARO1H $100
TOX $2,600| = O#F $500
TOFE $2,6001 7570 $200
O $2,600|FL Ol $200
EXOL $2,600[FROEF $300
FOH $2,600|40OH $500
+OT $2,600[FE O $100
F O $2.600| = O $500
BOE $300[EEOZ $100
BROAL $100[#A£O#H $500
EOTE $1,200) POt $100
RO $1.200[FRO%k $1,000
BOHi $100|FPO = $100
HOMESE $1,200) & Oty $200
O $1,200[t5OF5 $500
HOFE $600| EOH $500
RO $600[E Ot& $200
HORE $600[ O $100
FOIR $600PTOZEFE $1,000
ZOR, $1,200) i O40 $100
sHOF $200[#F O $100
O $2,600[FRO7T $100
HOzE $100[BBOZF $500
FROH $200[F O $300
O $500[FFOF( $100
MO $100[RO% $100
RO $300[AKOHIL $100
2IOB= $300[/HOF $1,500
BOZE $3001{hiO~ $1,300
BHOE $200|47O% $1,300
BROZRE $1.200|FHOE $1,300
CAOES $100[{L OFF $1,300
BOH $1,200| R OF $100
RO $200|52OFE $1,300
sHOSE $200[#ROZ $100




MEEANSETRAIDFEHEENESE

OTEERR S
241 i E S X it i L
g OHi $200|ZF O $300
FHOFIE $100[#ROF* $100
BROE $200[#R O $100
RO $100[#k O $100
PROZE $100| 2O $100
BRO#E $100[7RO= $100
FOM $200| 2O $500
Ok $1,200| 52 O%& $500
BROE $100| PO $1,200
+O% $500[BHO== $1,200
O $500|5=0O $1,000
HOE $200| =0+ $4.200
HOFE $100| EOFF= $900
20X $100| FOE $100
ZOE&E $100| EO4 $100
HOWS $100[=O#h $500
AOE $1,200) 5 O%#, $500
s T O $1,200) 5O $500
T O% $1,200| =05+ $100
sTOZE $1,200[EOH $900
FAOE $100[8& Ot $600
BROTE $1,200{#FO1E $20,000
BHO¥% $200[ F=O" $100
sTOfH $1,200{ O $100
BIOF, $1,2002£0E $1,000
PEEFEAIRAE $100,000|ATO%5 $600
RO $1,200{A1 OB $600
HOLF $1,200|F O $1,000
FO¥E $600| RO LHE $100
BROBRR $300[#AOEL $100
ROFE $600[H O $150
FO# $300|2£O% $150
HO4F $300[ OB $100
RO $300[FROH $100
BROTE $300[=OHE $100
O $300[m= O $100
MOE $300[=O%H $100
BROX $300[#FO= $100
BIOF $300[E=O $2.000
BIO%E $300[#£ O $2,000
BIOF $300 & O3 $2,000
OGN $1,200[ZFOF $2,000
ROE $300[FROHE $2,000
PO#HE $300[FHOLL $5.000
FHOrtE $100[#F O $3.000
FOE $1,000{£5OFE $200
O $3,000| A B ERPEBH 2% A PR /L =] $8.000
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O $10,000[ZF Ot $1,000
O $1,000[E O #S $500
BAOEZX $1,000)iF O%E $100
HO{ $5,000{ IOk $200
TOZE $5,000{ZZO = $1,250
#FORMH $800[ER OFK $1,250
2Z0OF $500[Z£O& $1,250
BROTE $1,000[22O%E $1,250
=0% T $100[EO1H $1,000
ROZE $600[fT O 4 $300
HO& $600[ 7R OB $5.000
MHO& $600|HEOFAT $50
AOs $600[ OB $50
BO%E $500[#FF Ot $50
OB $1.000|1#E O $50
w= Ol $400[ZFO%E $50
BIOF $500|EFOH $100
RO $500[ZF O $50
HOZ $1,000|EEOF $3,000
=HOHE $200[FRO%H $5,000
BOF $1,000[EH Ok $100
PROAL $600| B E FhECE T $20,000
PROAL $600[BRO# $100
FOE $3.000) O $500
=0% T $500[ & OB $100
FO% $1.000| 8O E $100
BRO B $300[ERO1E $100
HOBE $1,000fit O $100
POz $1.200(FR Ok $200
RO $1.000|ZOFF $200
HOH $100[EOL $200
FHOE $510[EFOH1 $200
PROER $200[EF O $200
BRO# $100[# O $200
TOF $125| 52 Offg $300
ESOLS $125[FROFE $500
EO% $125 | O#k $500
HOX $125|f O $100
TOH $100|2F O % $100
ZOE $3,000[BRO St $100
BROZR $1,000{ O F§ $100
=05 $1,000)E 0O $100
i $20,000[ZIO% $100
75 e ZER (i A IRV E] $500[ = OKE $100
BROZE $100|BRO 05 $200
TOE $100[HO=82 $500
£O4 $100[HEOTE $100
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sTOSEE $1.200[EO>L $100
A O $300[s0O= $100
RO $100|BO%h $100
HOM $100[ & O $100
#Ola $100[ 2 OB $100
O $100[ 2 OF $100
HOL $100[HO%% $100
O $100[FROF $100
BROE: $100[=O#h $100
#HOZRNE $1.200[EF O fif $100
O $1.200[FOfE $100
HO4 $1.200{5 O $500
=0% T $200[FIOf% $100
P OF $100[BROZ $100
O H $5.000) PO $100
HO&ZE $1.200 O 5 $100
BHO® $1,200{FE ORI $100
O $1.200HO%5 $100
FOEF ] $1.200[# O $200
RO $1.200[5RO%E $200
202 $1,200)22OF% $200
ZO% $1,200|122 OB $200
G OE $1.200({FOZE $200
#HOR $500|BAO %= $200
BROF $100 | i O $200
O $100[ i O $200
PROEE $100[#OF= $200
RO $100|Z0O= $200
O3 $100[FE O $1,200
BRORE $100PTOEE $200
RO $100|EFCOEE $100
s O $100[H= O] $500
BROZ $100[# O $100
sTOE $100|5=OE $100
sTO = $100[52 Ot $200
sTOE $100[ETOEE $200
MHOIE $20,000[BEOEE $200
OB $100[PRO= $100
TOF $100[fRO=E $100
+0O $200 | O $100
O $200[ 2 OF4 $200
e O $100[fR O $100
s OH $100[FEFOUR $200
Ok $100| EOFH $200
EO& $800[# O $200
#HOH $1,200|ZF O $100
BREZAN $1.200|E=OH $300
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= $1,200|HOf= $5,000
BIxRZE $1,200pPTOZE $5.000
B $1,200|5RO 5% $500
FH $1,200|1220F5 $500
NI $1,200|FO%z $1,000
RO $10,000[BROE $1,000
RO%E $100| =05+ $500
RO $100|FOE $1,815
EOHED $50,000|5=OF $1,000
FIOF5 $1.200[5RO%X $1,000
= O $1.200| £OF $250
= OB $1,200[ O $250
FROZ= $3,600| £O% $250
BHOF $100[EBOE $250
BHOF $100)77 $2 ISR A IR /A H] $500
ZOfk $100[FRO%E $100
ZOfk $100[ MO $1,200
E1@)i $100PLOE $1,200
E1@)i $100fifi OF5 5 $1,200
LOME $1,200) B O$#, $100
O $100 &k O $2,000
O $100|AOEAER) $100
=B fiESC an $30,000{FE O $100
rOJE $12,000| =0+ $100
BOR $6,000{ =0+ $30,653
BEOR, $1,000|BEEOF* $100
w=OfE $3,000)= O $100
HOFE $1,000{FEOHE $100
BOZ= $20,000| s O $100
BOE $100[ OB $100
RO $1.000) B O£ $100
HOE $1.000|BEOt% $100
PO $600[EFOi% $100
O HE $1,000) B O $100
AL $10,000[5FO=E $100
#rOAE $5.000)5F O e $100
o2 $3,000|5TO%E $100
PROF $2,000{¥OBA $5,000
FAOT $2.400({FOFE $100
FAOT $2.400{ = Ol $1,200
BROHE $500[;FEOZF $50,000
BROHE $500| £ OB $3,000
O $2,015[B8OFE $1,000
BROS $100| g F Bl e A o & $40,000
BROS $100[ O $300
£Z075T $2,000[EHOFT $300
O $5.000)#OF $300
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=HOSR $5,000[EHO%E $300
E O $1,000|EHO#% $300
HBOR $1,000| & O $1,000
—0O%T $200|EHOFH $300
=O4 $500[EH O %E $300
=04 $500|ZO1(= $200
ZO=E $300|EOF $3,000
SO $300|FEO = $1,000
ZOE $500|FROE $1,200
TOF% $100[#ROZK $1,200
TOF% $100H Ot $300
TOR $100|8£ O FREIZR $800
TOR $1001#O 5 $150,000
TO% $100|18# O $1,000
TO% $100|22 Ok $1,200
TO%E $100|1 RO $2,000
TO%E $100| 2O $3,000
B O $100FEOE $100
B O $100TOE $6,000
TO= $100|5R Ok $1,000
TO= $100|FE O $200
TORE $100|fr O $1,000
TORE $100|EOE $3,000
TO# $100|KOE $100
TO# $100[FHOFF $1,000
FOE $100|EOHE $2,000
FOE $100|EEOF $600
O $2,000|1#5ORE $1,000
2O $2001 B Ol $600
IOk $200|FRORE $600
EO= $1,000|FEOIE $600
EOF $1,000|FHOF $600
=EO%F $200|FRO%E $600
(@ $100|1#50O 3% $300
O $3,000|1#50OF1 $300
PROFHE $300[#5OFH $300
PROFHE $300|22 Ok $300
i OfFIs $100[FOFK $100
i OfFIs $100|1#% O & $10,000
BEO=E $2,000[EOFE $1,000
BEO#: $1,000[5O= $20,000
O $600| RO $100
SOE $5,000[{7O%& $100
SEOE $3,000(fHE O$8 $100
HOEL $30[PR O $100
OB $50[FEO TS $100
MO $200|FEOF $100
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MO $200[7= O $100
i O $1,000{FROHE $100
HOH $1,000( PR Ot $100
O $500[ £OB $100
RO $100[FROJE $100
RO $100[ER O $100
AROTH $100[EFOi% $100
AROTH $100FR O $100
w=OE $500[ETO*E $100
w0 $500[EFO f $100
MO $50[5TO=E $100
HO®% $50|1# O $500
ZO#k $50[EAO L $500
10O $200[ZFO%k $100
70 $200| MO $1,200
HO $200[F O $100
O $200[F O $300
ROk $300[ZFO% $300
BROZ $2,000|ZF Ot $300
FEOM $100[#OJe $300
FEOM $100F O $250
ATO% $600[FROFEE $250
AIOFR $600[BROF $200
BOZ $100[ EOHK $200
BOZ $100[FRO%E $200
TORE $215[BEOE $200
#HO#H $500[21OF5 $500
#HO#H $500[BIOF $1.000
CAON $500|FE Ot $1,000
ZOR $500[ZF Ok $600
EOE $5.000)FF OHE $100
POH $100[ZOR $100
POH $100[£8OF $100
ROk $1,000)F Ok $100
RO $1.000({FO =/ $100
Oy $200[EEO % $1,000
HORg $200[ 18 5F $10,000
BOF $500[E OfF $1.000
BOF $500| =OH $100
O’ $200|5=OF $2,000
HO® $200[EH O $900
HOHE $100[BBOFl $900
HOHE $100|2=Olig $600
LOZEEE $1,000|ZF Ot $1,000
LOZEEE $1,000|E=OF $5,000
O $100[EBOR $100
O $100[FO1E $100
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MO $100|HFOZE $100
HOZE $100|FFO1= $100
BROIT $100[EFO5 $100
BROIT $100ta O $100
O $500[z=O4 $500
O $500[ T O% $600
FOBE $300[ T Ot $400
FOE $300|2IOFk $200
PROR] $100/2£0 $700
PROR] $100|2 O $700
KOZ $100|2=O% $700
RKOF $100)AE O $700
ROF $100[HEO= $700
ROF $100[z=0O1% $700
AKOE $100[HEO#E $700
KOE $100[Z=OFk $700
FOH $10,000)4ECO =& $700
PROH $100)4£0O $700
FOH $50[# O $900
RO $120|# OF $1,000
BROIM $120|ROF53E $300
WOZ $100|# O $100
WOZ $100[#FOF= $200
HOEHE $3.,000| EOAI#HD $500
HOFS $20,000[FF O 5 $600
BOZ) $20,000|ER O£ $600
HOE $20,000|EROJF $600
ROE $10,000|Ht O $1.000
EOE $500[FROEF $100
TOX $100[AROFH $100
TOX $100[z= O#F $500
FOK $300[ 5O $200
FOK $300|#L Ot $200
POF $100|BEOFE $900
POTF $100[FEOA $100
WEOFE $100[= O35 $500
WEOFE $100[EOZ $100
HOA $100]+ORAE $115
HOA $100[#A£O#H $500
FO $100[#RO & $100
FO $100[ERO%K $1.000
RO $100[ & Otfg $200
EIEEST $100,000|1#0O75 $500
BROZD $1.000[EOH $500
BROZD $1,200| & O $200
PROFEE $1,000[ALOH $100
#O $2,000TOZEEE $1,000




MEEANSETRAIDFEHEENESE

OTEERR S
241 i E S X it i L
FHOrtE $200[ O $100
=OT $500[F O $100
LOH Ky $1,000[FEOIT $100
FOEE $1,000|B8OZF $500
RO $5.000|F O $300
£0OMark $500 [ OF( $100
EEOM $100[RO%% $100
BOR $1,200) KO8l $100
RO% $1.200| ROF $100
O $1,200|#k O $100
HOE $1,200)1FO%K $300
OB $1.200)#kOF* $100
BROA b $1,200|#k O $100
O $2,500[{#k O« $100
H O $10,000| 52O $100
sHORE $1,200)5=O% $100
BOH® $1,200| B2 O $3,000
FORd $1.200[HOEME $1,000
BAO%m $1.200[HO/J= $1,000
B O $1.200[#OH $300
FOFE $2,000[t5O%& $1,200
205 $2,500{#kO40 $1,200
21O $2,500(t5O5F $1,200
=50 $2,500({TOF $1,200
FEOH $1.,200| 8O $1,200
FROBHE $1,200|1 8 O%#, $1,200
BOR $1,200|E3Of= $1,200
A O $1.200{#5 O $1,200
LOA $10,000| #af EUPEBH 2 A TR/ ] $8,000
MmO $1.200[FrOF& $1,000
MOFE $1,200)47 O $300
POFE $1.200{EOH $100
HOAE $1,200) 5= Ol $100
HOH $1.200| B[ 2ot $20,000
EOHE, $200[&£ O $2,000
E=ORP $200| EOE $100
EHOZ $200| EO4 $100
= O $300|22 Ok $3.600
= O $1,200{%= O $500
= O $300[EEOL $1,200
RO $1,200|BR O3 $3.,800
Z0O $100[f O $3.600
i O $500)| £ O $100
ROBL $300| EOF $100
RO $300| EOZE $400
RO $300)Z O $400
RO $300[tHOR% $1,200
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Z=OH $200[FEOH $300
E=OK $200 (2= O $300
SR ART $11,409| O $1,500
RO $1.000[{iOZ $1,300
=0%F $100|#7O% $1,300
TOAIED $500|HOE $1,300
AO# $5.000[fiOF $1,300
HFOR $300|%2OFE $1,300
HOH $100|2£O% $200
=50 $500[BROHE $300
BRO $200[FRO % $300
FRON= $500[FEEOH $1,000
i $20,000| PR O $1,500
RO $500.000| A EVE N EILHF#EEE]  $50,000
TOEE $2001 2O $200
BEOs $1,200| £O $300
FOE $1,000| £O= $300
FOBE $10,000EEO>L $5.000
O $1.000|FO& $1,000
i OB 4% (H#0) $2,000[E O #E $400
ROZE $500[FR O1& $1.000
FFOERMZ $800| =0+ $100
£0% $500[= O $400
A OHFES $500 & O $500
BEO% $1.000[z=0O $200
ROFE $1,200{ RO FAK $50
BROTE $1,000[# OB $50
OB $1.000| PO $50
2IOF $500[# O $50
ZOE $100[ZFO%E $50
RO% $100|BRO#® $100
EOH $1,200|FOF4 $50
BEOfF $1,000|tR O $1,000
wOF $200| 5O e et $500
BOZ= $1,500|F O $200
FO% $1.000[2£OF $500
O $300|EO%x $1,000
ROE $5,000{ZIOF5 $400
HOEE $5,000|2 O $1,000
£20% $500[FROEF $300
FOE $510[=OF $500
HOH $1,000{FROTE $100
FOE $100[BROZK $200
BRO#E $100[EBOFE T $200
BOR $250[EOL $200
FOMH $100|ZFOH $200
PO $5.000|Z Ot $200
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POk $5.000) B O $500
PO $5.000) B O3 $500
tROBF $250[FROZE $100
AW 7t ks TAN - ¢ $2,000| 2O F $1,000
BOLH $1,500|ZF O F $100
=R $400[BRO S $100
EOE $1.000)fOFE $200
FHOEE $100[B1Of $100
RO $1,000)BE O $100
AEOFE $1.020(#O% $300
TO#HE $900[HO & $100
TOE $100|FEOF $100
FO4 $100[HOH $100
FOE $100|E=0O7K $5,000
HOZE $3.,000|5E O $1,000
FOH] $100[Z= O] $500
TOH $900[FR O3 $200
FOF $100|5=OE $100
BEOF 1 $100[fROEE $200
ROz $100[FR O $100
HEOM, $100[fRO=E $100
BROEE $100[fR O $100
Otk $100[# O $200
=2 OF $1,200|ZF O $100
irOF $4.000)ZF OB & $1,000
FLOZ $200| &L fhHoeE i $23,000
RO $200|&£O EEREIZ $800
RO $200[#R O $2,000
MHOIE $20,000[ZIOF $1,000
OB $100|HrO & $20,000
TOF $100/ZBOAE $1,200
e O $100[#O%E $100
s OH $100[fLO% $1,000
Ok $100[FEO $5.000
HOFE $600 | OF $150
FHOFE $100| O $150
FOi $300[FRO%E $150
E2AO) $300[BROZ $150
FO1E $300| % Ot $1,000
MOk $300 O $500
HEOHE $300|E=O= $100
FEO%m $300[ & OB $100
FHOIH $600[ ORI $100
MOE $29,462[HR Ot $100
RO $58.922|5 O $100
ZOH $29,462| = ORE $100
O $29,462|F O F§2 $500
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JO& $29.,462Jitfi O 1t $100
HEOE $500[HEOL $100
AEOE $500[40O= $100
g OB $100|BO %) $100
ZOR $100[ & O $100
BROIE $100[ 2 OB $100
fie OF0 $100| 8 O $100
BROZR $200[H=O%% $100
BROE $150[FROF $100
HOFET $200[=O#h $100
HOL $200[5T O $100
L HOLS $200[ETOf $100
HOE $200[#FOHH $100
iTOTF $200[EF O $100
2O $300[EFOf& $100
RO $500|HFOZE $100
BROME $500[EF O $100
BROZE $100|ZCO5E $100
F O $100ta O $100
PROSE $100|EFCOEE $100
RO#E $500[# O $100
POt $100[=OE $500
w3 $100| EOZ $500
s O $100|{E S REHE $5,000
BROXEG $200[BRO#D $1,000
TOHk $150[FRO%E $100
BROZE $150|ZFO1& $1,000
BROZ $150F Ot $100
AEOFEEL $500[ R O $100
fiE OTE $100[3EO= $100
fitt O>L $100[m= OF $1.815
LO= $100[FROF* $100
O $100[z= O $100
g O $100[FR O $100
g O/ $100[BR O $100
qOE $100[ OB $100
FOZ $100[FROJE $100
BRO®& $100[FR O $100
s O $100[EFOi% $100
s Offi $100|FR O $100
sTOf2 $100[ETO*E $100
RO $500[EFO f, $100
BRO#E $200[5TOZE $100
FTORBk $200[# O $500
PROZE $200[FO%E $800
2O $100[sEORI $3.,000
BROZ $100[ EOH $100
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PO $100| = OFM $1,200
AHEOE $100[HO% $6,000
FEORM $100[HOF $4.000
AEOH $100[FBORE $100
ROZR $200[#F OBk $4.000
g O $1,000| O $100
HOE $100[=OF $5,000
O $500[=O4 $500
MO $100[£8OF $100
BOE $200[ T O% $600
EZOX $100[ T Ot $400
SO $200[FO 1k $100
BOZE $500 7% O T3t $300
BROEE $200) TOE £ $200
BRO= $100|# OF $1,000
BROE $100[ROF53E $300
BRO#E $100|# O $100
FOM $200[ kO $48,000
BRO#E $100[#FOF= $200
HOE $200|HOF $1,000
HOFE $100[f O $100
20X $100[AROFH $100
£0%E $100[m=O#F $500
HOWS $100[ 50O $200
O T $1,200|F Ol $200
EOFHHD $1.200[FE O $100
OECHE) $1.200{FOZ $100
BOFE $1,500) O # $500
=0% T $500[ RO &L $100
BROH $200 &k O#F $6,000
ZOligg $200[ERO%k $1.000
BRO$ $200|FPO $100
BOZ= $1,200) & Oty $200
BHOR $200[t5OF5 $500
EO= $200[£OE $500
BROZK $200[E Of& $200
= OFERL $200[HEOH $100
MO $200) TOZEHE $1,000
BOFE $200[ 5O $100
HOFE $200[#F O $100
H OBE $200f Ot $100
BHOE $200|58CO% $500
BOE $1,200|F O $300
BOE $1.500(#ROF( $100
BOE $1.200{RKO¥% $100
BOZ= $1,200) KO8l $100
BOZE $1.200| R OF $100
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BOZ= $1,200|#k O $100
BOZ= $1,200)1FO%K $300
BOZ= $1.200)#kOF $100
BOZE $1,200{#kOE $100
BOZ= $1,200)#kO40 $100
BOZ= $1,200| 2O $100
BOZ= $1,200)7=O% $100
BOZ= $1.200[{£Of+: $200
EOH $1,200| R O% $100
T ORKEE $1.200[5O= $100
=OE $1,200{ IOk $200
=OH $1,200|BOF7 $100
=OT $1.200{FEOH $20,000
fitt O3L $1.200{5 O $100
BROZ $1,200| EOAIHD $500
S OA $1,200|5 O $500
BEO $1,200)1F Ok $100
ZOEH $1,200Jit O fEE $100
EOLE $1.500({FOFE $100
HOE] $1,500|FP O $1,000
EOE $1,500{FH O $1,500
ROF $1.200[{iOZ $1,300
=OH $1.200|187O%E $1,300
SO $1.200|FHOE $1,300
BO&E $500{L OFF $1,300
BEOIL $1.200{5:OF= $1,300
RO $1.200{ZF Ol $1,000
T Ol $1,200[/& O $20,000
e Olige $1.200|#OF $2,000
BOH! $1,200|1F O $650
ROFT $1,500|FO== $650
TORE $1,200( % Ok $2,800
1E5ESF $100[#FH O $500
O $100[EOH $1,200
#Ola $100|EOZ $1,200
O $100) i O $1,200
ZOLE $100[E O $1,100
O $100[21 O $250
FOF $100|22OH $100
FROME $6,940|5ROF $3.000
PROF $2,000(%it OfF: $1,200
FROH $500[ EOFE $1,000
Z Ot $300[5 O $250
BO%Z $500[,LOF* $1,200
PO $2,000pPTOR $1,200
£0# $200|122 O $500
FOH $1.915[/5EE236 $5,000
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RO $1.220|1f2 Ot $1,000
BROZ $1,2201%0O $1,000
BIOF $1,000) 5= OFE $500
SO $1,000| 52 O%& $500
PHOI $1,000)#O $100
BROHE $500[Z OIEl $800
s T O $1.200|1#EO $800
MO¥E $1,200)&=O%E $800
BIOEZ= $1,200|F O $800
A O& $1.200[ZFOfE $800
O $1.200[E O $1,000
BROS $100[fL O $100
=OS $5.000 (PR Ok $1,000
HOHFES $500[#ORE $1,000
w Ok $1.200({52 O )i $1,000
O $500[HOF5 $100
TOXE $100|#H OF7 $5,000
TOE $100| O $1,000
JTOE $100|FHOFF $1,000
JOE $100[ZF=O%k $100
B O $100[FO#: $100
10= $100)5= O $2,000
TORE $100| =05+ $3.933
T O $100[ =0+ $20,000
TO¥ $100[#EO A%k $2,000
BIOZR $200(br O $1,000
i OF5 T $1,200|HOf= $5,000
IO $1,200TOZ= $5.000
fr] O $1,200[E O #E $300
ROE $1,200| =05+ $100
F O $1,200) &= O $400
E ORk $1.200|2£Of# $1,250
= O $1,200)BEORK $1,250
BROFE $300|122OE $1,250
i O $100[Z£EOF $1,250
FOHR $1,200( % O, $250
BOF5 5 $1,200(#50O H ¥ $6.000
R OF5 $1,200|1ZOH $100
BOT $1,200) 5= Ol $500
EOH $1.200[EEOF $3,000
B Ol $1,200[#O ke et $500
#OAE $1.200[E O $2,000
g OF $1.200| B[ 2ot $20,000
HOE= $1,200)EEOPK $100
O $1.200|1#O%4 $1,000
F O $1.200(#ROE $1,200
=O® $1.200{5ROZk $1,200
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0= $1.200(F EI{T $1,200
=0 $1.200|FO& $1,000
O $1.200[FEOH $1,000,000
=0t $1.200{#:O% $1,200
AOLE $1,200|5RO 5% $500
FOtE $1,200|FO%z $1,000
=OHHE $1,200| & O <] $600
HOF $1,200)BEO $600
RO $1,200{FE Ot $1,000
s OHk $1.200[EFHOR $600
RO $1,200| O3 $600
BROE $1,200[AEOF % $600
PR Ok $1,200| =05+ $30,000
HOBE $1,000| =05+ $40,000
HOER $50| = OREE $600
PO $50[FROHR $500
PO $200[R O $600
sTORE $1,200|ZFO %t $800
MO $1.200|1EO4F $500
RO $100[BROFE $500
AROTH $100[EOE $1,000
O $500[#FO%5 $500
MO $50[ PO $500
BRO%E $1,200)47 O $300
HOF $1,200)1#E0 H & $600
FTOR& $1,200) B OFd $900
s Ol $1.200[Ex O $1,200
HO®% $50[21OF $500
ZOik $50(21O#F $500
10O $200[FIOF* $500
SO $200| O $600
FEOM $100[5=OF H $2,000
BO2 $100[t0 Of $600
O $1,200|BRO4F $600
= O $1.200{FEO#2 $100
#HO#H $500[=O & $500
ZOR $500[5TOH $4,000
PROB $100[#OZE $300
ROk $1,000) %Ot $300
O $200[#F O $300
BOF $500[#F O $300
O’ $200[=OfE: $300
HOHE $100[E= O/ $300
LOZEEE $1,000)E= O $300
fiti O#l $100[tOF5 $300
HOZE $100[7ROZE $500
BROIT $100[#OHk $1,500
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O $500[FNOF $500
FOBE $300[ZF Ok $600
PROF] $100|3=OH $1,200
RKOF $100|#rOJH $1,200
RO $100|PRO=F $1,200
FOH $50[ RO $1,200
RO $100[#OHE $1,200
RO $120[=O T $1,200
TOF $125[5=O5A $1,200
O $125|& Ok $1,200
+0O¥% $125[ O $1,200
BOE $125[=0OZ $1,200
B O $1,000{FEOF $1,200
WOZ $100[BRO & $1,200
FOX $100|12I0 & $1,200
FOK $300] = OuUHE $400
POTF $100[R£O% $400
PO $100| & OBH $100
HOAN $100[EOE $100
FO $100[EROIE $100
RO $100[ ORI $100
HOER $10,000[BROZE $200
EOK $3,000|EOFF $200
£Z0% $500[EFOL $200
g O $1.000[E O $200
=0% T $24,730|EOf% $200
RO $600[FROFE $500
BRO $1,200| P O $500
BFROZ $1.200[FR O $100
EOH $1,200)F Ok $1,200
BO% $1,200|ZF O F= $100
EOr $1,200[{BRO St $100
EO=E $1,200{ kO $100
FONE $1,200)E 0L $100
OB $1,200) &= O¥E $100
LOF $1.200)f O FE $200
BROAT $1.200[fEO It $100
BROH $1,200] 1 O=L $100
O $1,200{4C O= $100
BEOR $1,200{50CO %) $100
BOZ= $1,200( % O $100
ROZE $400[ 2 OB $100
HO $1,200|8 OF $100
BOR $1,200)FEO%% $100
BOIE $1.200)B OF& $100
BOEE $1,200) 5 O%#, $100
BOBE $1,200)5F O $100
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frOT $1,200[5FOE $100
FHORR $1,200|1210% $100
2O $1,200| B O $100
RO $1.,200| PO $100
BHOZE $1. 200 O 5 $100
i OF, $1,200{FE ORI $100
Oy $1,200); O $100
w16 $1,200) BE O $200
FON $1.200{B5BO % $200
A OFE $1,000)/8 Ok $200
BO% $1.800|6BOFE $200
ROF $1.800[EFO % $200
BOR $1,200) B O%= $200
+OE $500[5R OB $200
EO% $300[EB O $100
g ORE $300[H= O] $500
g O¥ $300[#HOE $100
g OME $300|5=OE $100
O $300[FROEE $200
gOE! $300[FR O $100
g Ofgt $300[fRO=E $100
O/ $300 R O $100
wOF $300[#F O $200
HO $300[E O $100
SO $300|HE O $500
MO $300[HO=82 $500
SOt $300[EEO=E $100,000
PO $300[=O %+ $30,000
PO $300[=O%+ $50,000
s OfE $300[=O& $30,000
O/ $300|&£O EEREIZ $300
w=OHN $300[Z£OF5 $500
O $300|E= O $200
i O $1.000{ZIOF $1,000
TOEE $200)EOIH $1,200
oy et g =l (RN $8.,000) 7Ok $1,000
EEORBED $1,200|BR O $150
ROk $1,500) £ Ok $150
BROZE $1,200) B O % $150
O $100,000(FROZ $150
ZF O $1.000[EOE $100
FOK $1.000 1 O $600
EEOZEAL $1,200{ RO £ $1.815
sTO4 $1,200) T O $600
= OFF $1,200{=O % $600
BROH $600| EOF $125
LOSR $500[ O $125
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FO% $1.000{EO*% $125
MO $150,000[58OF $125
ZO1 $200[EB O $100
ZO=E $1,000|1ZOt& $100
PO $2,000|EFO = $100
PRO $1,000|EBOf= $100
=0T $500[EFO5 $100
O $1.000 [T O 5 $100
HOE $10,000[ KEESF $1,000
LOZE $10,000| ZEAHUIEED $5.000
£0% $500[ZFO1 $200
BEO% $1,000/## O A&k $1,000
BROTE $1.000(HOE $1,000
HOR $1.000|187O%E $250
=0% T $1001 TOE $250
MHO& $600[HOZ $1,000
HOE $1,000{ZIOF5 $500
BIOF $700[#O 5 $2,000
PO $2,000) 7= O%F $3.000
BEOfF $1,000[OF $2,000
FROAL $600| 77 $2 bSER AT A IR /A H] $1,000
MO $1,000|=0O%F $34,500
EHO#ED $500| =05+ $50,000
RO $500|EEO== $100,000
FO% $1,000)FF OHE $100
O $300[ZOR $100
TOAIED $500|ZOF $100
RO $1,000[ O $200
£0% $500| = O= $400
FEOR $300[EROZK $400
HOH $100[#FO%j $400
ROk $300[#OF= $200
=50 $500[FHO=E $200
1@ $1,200|#HOBE $200
BO%E $100[t5 O $200
FOHE $100[FOtk $100
BRO#E $100[BR O $600
BO% $2,000[21OF5 $600
BO $10,000)ZB O $100
PREhECE $20,000|EHO 4t $600
B OR $200[#FOIX $200
#FORBZR $800[FEOH: $700
POH $200|FH O $1,000
RO $200[ 52 Offg $600
£Z0%/% $200[ 5O $1,000
ZORE $200[/EH O $1,000
FOE $200[;E O $1,000
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BHO%% $200| FOH $1,000
A O FFI $200[[H O $2,000
OB $200[52 Ot $400
BOFE $200[ = OF4 $400
Z0= $200[BRO#E $200
BEOFEE $3.000[z=OH $600
FOBE $510[FROFEE $1,200
TOBE $200[#FO= $1,200
A OHE $200(ER OF $1,200
FOFE $200|PEOF $7.200
202 $1.200[E O $1,000
=HOR, $2,500| B8Ok $1,200
BRO% $1,200) B O $1,200
BROBT $600 O 5 $100
FOHRE $100[=OF $5,000
HOE $1,000) & O%F $1,200
HOFE $1.000[z=O7% $1,200
B ORE $10,000|E= O $1,200
2OT $600|#ORE $1,000
HOEF $600[ O $1,200
EHONR $2,500[FHOME $1,200
HOH $2,500[FH O $1,200
FOME $100[FHOFk $800
BORE $1.000[HO%E $500
BORE $1,000{ZZOfF: $500
BORE $1.000{FRO I $500
s O $600[ = O $500
s O $600[EXO%H $500
RO $600| = O54 $500
s ORE $600[E=O4: $500
MOH $600[ T O% $100
BROH $600| I O $100
PROEE $600| " O $100
BROIE $600[ T OFE $100
RO $600[ZO1H $100
BROLE $600| T O= $100
1 OR $600[ T O $100
BO% $300[ T Ot $100
BO# $300[EOZ $100
BO#H $300[B1O%x $200
£0OHk $300|E= O $200
#HOT $100 7% O 7t $300
Otk $100] i OF $1.000
BIO# $1,200)fOF = $300
AEO#R $3,000[#H OFF4F $100
BOHE $6.000{#5OF $4,000
PO $1.000)47 O $300
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BROZ0ES $1,200[#ROZ= $200
RO $1,200[ FOAHD) $500
HOE $1,200 (5 O $1,000
HO $1,200[25OE $500
HOZ% $1,200[#£ O $500
HOIE $20,000(pFEOZ%E $500
HOHE $1,000[fEOZ= $500
HOHE $1,000(BFE Ot $500
Z0O&E $1,000(BROEF $100
TROEK $1,000[#F O3 $500
FOERE $100[A Ot $100
=OLE $1,200[ AL Oty $3,000
RO5E $250|= O $500
HOFH $3,000|E O*f $1,000
HOFH $3,000|OF $500
=O54 $1,000[FEO#E $500
O $600| KO $500
FFOH $600[Z&OHin $500
20K $2,500|O%ii $500
EOE $2,500{ 70O $200
A $4,000|#F OB $200
= ES $2,500[zx 0% $200
P Oz $200([ ROk $1,200
HOE $1,200|1BEOFE $2,400
RO= $50|= Off $1,200
HOE $100({= O $1,200
BEOFE $300[F2O &3k $1,200
B Oz $300[FROFF $1,200
HEOM $300[FRO#4 $1,200
EOFH $300[4505H $1,200
EOME $300{FEOA $100
RO $200|=O% $500
PO $200{FOE $100
EOH $300[FZOFK $1,200
P OBk $300[F O $500
HOZzE $500([#RO L $100
BOT $100[BHO ) $600
HOF $100[FRO%k $1,000
PO $300[EFOGEN $1,200
P OF $200{H O $1,200
FO $200|HO= $1,200
PO $200[E Ot $200
BEO M $200(#5OFF $500
FOH $200| EOH $500
P OJ5E $200[EFHOFE $200
PO $200[HOH $100
FFOi%E $200 LOZEEE $1,000
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BROZ $200| =05+ $615
s O $200(f Ot $100
sTO =, $200[5BOZF $500
sTOZE $200[F O $300
FOZE $300[FEOF( $100
BEOjw $300[HRO% $100
ZOfk $100[AROHIL $100
ZOfk $50[ROF $100
O $100| O $1,200
O $100[FHOHk $1,200
O $1,200)1F Oty $1,200
O $1.200[ZF O $1,200
ROF5 $300[7ROZF $1,200
= O $400|7EOE $1,200
HBOE $100| 2O $1,200
ZOF $1.000[F1O= $1,200
EEOM $200 | ORE $500
#HORE $10,000{FEO FAE $500
FEOR $300| =OH $100
RO $300[#ROZ $100
HOZE $1,915|F O $300
RO $200[#ROF* $100
TORE $115[HROHE $100
AEOE $500[#k O $100
g OB $100| 2O $100
ZOR $100[7RO=2 $100
BROIE $100|EEOEE $3,000
fite OF $100[FEOH $600
BROZR $200| 2O $500
BROE 150|202 $500
e OBk $5,000[#O ke et $500
£0 $200[FIOfS $1,200
HOFET $200[F2O 5 $1,000
HOL $200[FE£ O} $1,000
ZOH $200[f2 O $1,000
HOE $200| EOH $900
iTOTF $200[FE O3 $50,000
TOE $100[FEEOXN $5,000
F O $100[5FO=E $1,200

ZFOHE $100
/It $4.,420,585 /NET $6,058,665
=1 $10,479,250




